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Subject: Math Chapter: (1, 6,9, 11)
Name: Grade 6 CS
Objective:

e To revise the covered material of the first semester.

Negative numbers.

Remember.
In adding and subtracting negative numbers:

e Same signs |:> add the numbers and put the common sign.
Example: -2 +-4=-6

e Different signs |:> subtract the numbers and the sign of the answer is according
to the sign of the bigger number.
Example: -8 +5=-3

e When you have two negative signs (- -)|:>turn the sign to positive (+).

Example: (4 ——6 it will be 4 + 6 = 10)

In multiplying and dividing numbers:

e if you have same signs (+ +) or (- -)|::>The sign of the answer is positive (+)
Example:-2 X -5=10

e If you have different signs (+ -) |::> The sign of the answer is negative (-)

Example: -3 X 9 =-27
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Exercise (2): Workout. s
2xX32
m2+15+3—10ﬂ;> b) 10 — 20 + (5% + 5)
] lo—- <0 + (zs=s
(6 2l v &
.
O DS

d) V49 + 4% — 10x v—
Y St
4k @.— |0

Page 3 of 8




| a) Find the HCF of:

\ 2,18, 28
LR
HCE: 124 .

b) Find the LCMof:
6: €, 12,13, 24, 30,(36)42%
9: q, 18, 23,3) Us, s 63
19: 12, 29, @ 12, éo

| c) Check the divisibility.
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Adding fractions

\
Same denominators

Multiplying fractions

No need for same denominators

Try to simplify the fraction first

\ >
Then multiply.
Exercise (4): Workout.
#6r5F L JLY (5 1
s (421 b)<9)l3)g_ct- (7>; X3
—é’. —\l o O 4 ~ed
q A 21 =¥ z\ ‘ \() o qC 4 6S
q 13 n# 4 2 ; vED
. d ~t —7q\ - 5
e s 6+ (1] oté + 1 12 013415
B \ ST
e A 17441 49
C)—X— )_x_
2 5%{‘ 63 51+F
6\ \} 1 - 3
2 2, 393 4,3 (28 N T
S 1 fo*> 9 s 9 |qs €343 3 A = 2
|0
3 .15
B - f2le32 <o 12 . 13 (leep chuye P
5. 20 @ ) 2 3 € ~ ( Y
Loty 2T -
Q.. = 23T

Page 5 of 8

Dividing fractions

Keep change flip
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Eractions, decimals and percentages.

Exercise (5): Workout.

Fraction Decimal Percentage
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|Ratio.

Exercise (7): Simplify the ratios.
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Share in a given ratio.
Exercise (8):
Share.
a) $55intheratio2:3
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Exercise (9): Answer the following questions.

1)w
) We carried out a traffic survey at school. Of the 4g Veh|c|©N
how many were cars? €re bikes 7 Were yane
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2) A box holds 1= > kg of nails. What weight of nails do seven such boxes hold?
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3) Peter scored 14 out of 20 in Math test. He scored 17 out of 25 in an English test.

Which was the better mark
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4) Share the following between Anton and Sara:

a) 20 marbles in the ratio 3 : 2
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b) 36 biscuits in the ratio 4 : 5 '
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